v VLW VAP

1.) KijranBaliyan Won

ID\ mK$W\%SJ&

A) GOld We‘f:hl L edal in whi L

B) Silver, Shot pyy g ich E‘"“}éthc Asian Gameg, 20237

C) Bronze, Sho Put JMM ﬁw
Fb 1

D) Bronze, we; ght "m%

@ Who is the mi]itaryc

Omm i »
2023 conflict? ander of | lamas's milj tary wing during the Isracl-Hamas
A) MOhammed De]f

B) Ismail Haniyep
C) Yahya Sinwar
D) Ayman Nofa]

Arrobot, which has developed Unmanned Guided Veh@’

ce Selectlon Board Aspirants

forces, is ) for the Indién armed
A)  AFrench company v.

B) A Russian startup &

C) A startup incubated by IIT Bombay 0

D) A joint-venture startup based Wad
Which of the following p%@ated in Jammu and Kashmir Union Territory?

A) Banihal Pass

B) ChanglaPass \&

C) FotuLaP

D) Khard@a ass
O & following states does not share boundaries with other countries?
3. WE e follo
ttar Pradesh

G

B) Nagaland

C) Assam

D) Jharkhand
@ Which of th followingStatc is smallest in terms of area?
(o ich of the

A) Rajasthan

B) Madhya Pradesh

C) Maharashtra

D) Uttar Pradesh - [P.T.O.

€)
(Set-A)
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@ Which of the following is highest milk producing states i [ndia?
A)  Rajasthan
B) Gujarat
C)  Andhra Pradesh
D) Punjab

‘ |
@ Which of the following information is NOT collected during the census in India?
A)  Marital status

_ B)  Educational qualification
C) Salary per month
D)  Occupation

@ Last census of India was conducted in &
A) Feb2011 \Q

B) March 2014

C) Feb2021 t\

D) Feb2023 QQ
@ Which of the following w@ruler of Jammu and Kashmir?

) Aurangzeb %

B) Mabharaja l;a

Mahara& mgh

D) ria

/1‘1 2 lw@%e of the following is highest mountain range in Jammu and Kashmir?

Zanskar Range
B) Nanga Parbat Range
C) NunKunRange
D) Amarnath Mountain

@ Which of the following is largest lake in Jammu and Kashmir with respect to area?
4) Waular Lake

B) Dal Lake
C) Anchar Lake
D)  Romushi
(Set-A)

4)

-,
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/-\ ) Which of the followy,
A)  Rajasthan

1S the highest Ma;
aize prod fIndia”
B) Madhya Pradegy, i

C)  Jammuang Kashy,
D) Kamataka
m Whi ;
_ ‘//{{ A) lc}ll(:;lle o "8 Isa districy in Jammy ang Kashmir Union Tﬂﬁ“".'y?
B) Reasi
C)  Gulmarg
D) Pahalgam

15. . : e d
Kas1ch ogn tgi iZ‘olloxzm g statement is true regarding sowing &3 in Jammu 20

A)  Wheatis sown in Oct-Nov in Kashmir and in M &‘h
B)  Wheat is sown in May in Kashmir and not sown infCadakh-

€Y Inboth Ladakh and Kashmir, wheat is sov
D) Whatis not sown in both, Ladakh and &

yo‘

16. ) Which among the following don't co er the purview of Right to Education?

A) Government Schools 6&

B) Private Schools
C) Madrasas

D) Govemment & ded by Private Funds
a Which of the g& g constitution amendment gave one third reservations to women

at panchay%
A) *“
B) 1 th

C) 1 03rd
D) 3 ]st

18, Which of the following goods is covered under the GST bill?
A) Cooking gas
B) Liquor

Petrol

Diamonds

(5) [P-T.O.
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A)
B)

)
D)

~
@ / Which of the following is NOT the res

A)

B)

C)
D)

31)

A)
B)

Jo

N

| A private university named "Kaushal Universjty" i asses

sable under the income tax éct
A individual

An artificial juridical person

A local authority

None of these

ponsibility of a panchayat secretary?

Recording participation and discussion during meetings of panchayat and gram
sabha '

Maintains the village funds-collection and disbursa]

Helps in implementation of resolution of panchayat and gram sabha
Responsible for conducting election and vote countin

1. ) What is the minimum requirement on the number @s to be conducted by

gram panchayat in Jammu and Kashmir. v

At least once a week

At least once a month
At least once 1n six months QC

Atleast once in a year

Kashmir

/22.) According to 2011 censu@&average literacy rate in the state of Jammu and

A)
B)
C)

Lessthan

65%, &
More than t less than 70%
More 7 and less than 75%

i

D) Mo

23) l@ and Kashmir, maximum number of members in a gram panchayat can be
A)
B) 11

C)

15

D) 21

(Set-A)

e Who among the following made "Bud Musjid" in Kashmir?
A) Shah Mir

B)  Sultan Sikandar
C)  Aurangzeb
D) Rinchan

(6)
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25, Managers set targets ap decide

A) What
~B) How
C) Which
D) Because
26/ What are you
" A) Lookingin,
N B) Lookingon
C) Lookingto
D) Looking for

@ "Man proposes,

—.one of the followmg words -
A) Woman
B) God
C) Younggirl
D) Goddess

She

A)
B)
)
D)

Choose
Chose
Was chosen

Choosinév
We

th the party
A) Enjeyed ourself
B) Enjoyed ourselves

C) Played with
P) Enjoyed

QN

29.

in the kitchen cupboard?

___ disposes". Fill inthe bla

pieve the”

their organization canl

n@&l this saying with any

,&?’

60

__ thebest app@&the basket.

. ChOOSc the correctly spelt word

Comittee™}
Committe~"
Comitteee-L
Committee

A)
B)
C)
D)

(Set-A)

(7)

m _
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Choose the right word f;
rom bel ST = Wi B
“The President gave clow to fill in the blank in the

[]
) 9
31.) Which one is the correct sentence’

A)  Mumps is common among children.
Bj Mumpsare commonamong children.

C) Mumpsiscommon between children.

D) Mumpsare common between children.
/;-’-ﬁk The sergeant asked him to come to the Police station -
" Which one is the correct answer?

A}  Betweend PMto 5 PM.

B) Betweend PMand 5 PM.

C) Betweend PMor 5 PM.

D) Between4 PM till 5 PM.

~ &
33.) Which one is the correct sentence ? &&

&) He who speaks the truth, everybody loves him.
B) Everybody loves him who speaks the trutlé

C) Everybody who loves him speaks the truth.
D) Everybody whom he loves speaks t&x

@ A great man said, "If you can't fly, t ,if you can't run, then walk, if you can't walk

then crawl, but whatever you do ve to keep " In this quote, emphasis i
on - :

A) Flying. 6&
B)  Running.
L7 Moving. ‘\&

D)  Crawling, &

39 The corr, of -
th "
J fromf” o ¢ sentence "Did they not know who was he and where did he com

A
. )) h I:cy not know who was he and where he came from?-.
i :
they not know who he was and where did he come from?

C) Didthe
n ~
y not know who he was and where he came from?

Did no
P tthey know who he was and where he came from?

to the bil]," l'Ollowmg sentence -

A)  Accent,
B)  Ascent,
C) Assent,
Dy Ascend

L_{Set- A)
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"The wise man advised L= the sentence
with one of the followj,:l;;l:t to hgte the poor", Replace the word 1hate’ 11 th
& Lookdown. pressions:
B) Lookagainst.
C) Lookdownupon.
D) Lookdown against,
. Fill in the blank in the sentence "He studied hard lesthe ___—— fail” withi g

appropriate preposition from the following -

A) would
B) should
C) could

D) might.

"What you told is Greek to me", In this sentence, the word 'Greek’ means -

A) Thelanguage of ancient Greece. : 9
B) Thelanguage of medieval Greece. : &&
C) Thelanguage of modern Greece.

D7 Unknown. \Q
Manobhar is good Cricket. i
A)  about &
L B in 0
C) at 6
D) of :
Choose the Antonym of the wor@
A) Affection

B) Care 0\&

C) Like
. D)y Hate &
armistha is afr : spiders.
A)

"He hardly tried for good Juck." In this sentence, the word 'hardly' means -
Which one is the correct answer?

Almost not.

B) Sincerely.
0) In a diligent way.:

D) Very seriously
©) [P.1.0,

(Set-A)
' )

)
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"Where thereisa

With any one of the followin;l;ezgi(;z E_‘ way." Fill in the blapj space in this senteng, |
A Wil

B)  Shall

C)  Should

D)  Would

"Yesterday Rahim as well as Karim present in the meeting." Fill in the blank
In this sentence with one of the following -

A) Hasbeen
B) Was

C) Hadbeen
Dy Were

A) Come outof the box and then think.
BY  Think ina conventional manner,”

The expression “Think out of the box” means - &
C) Think in an innovative manner. , V\

D) Thinkinside the box.
4N Omnivorous animals are those who -

«f  Eatall kinds of food. 60:

- B) Liveonvegetables.
C) Liveinwater - 0
D) Livein flocks \'

@ That he would treat me wi h@ind of misbehaviour was known to me. This sentence

is- *

A) Fully correct

B) Partially c@ >
£y Substanti correct
D) Inco

Questi 49-57)
& e correct option to replace *?°
7

’49.) 8,20, 36, 56,7

B) 100
C) 64
pr 84

50. 1,8,4,27,9,7
A) 8
B) 9
C) 64
D) 16

(Set-A) (10)
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SI. 9,718,285

N 30 A6
B) 135

O 23

D) 40

52. APZLT,CQYNR R
3 R}{P
A)  KVOU] B GSWRN, 2

B) JUuVk
C) ITVTL
D) xuuvyy

53. RAP,MAP,HOTFUN,»

A) HNE
B) PGI

| 9
C) SN {\' -.

D) car

CWE, FQH, RDI 7 \,
A) XBZ Q
B) TGu
C) McCo 60
D) FUT '
@ Flcw:ijér::Stagnant:? 6

- @
v

et g e =

A)  Rain

®
€a *
/gg ls’t;olm @
D) Canal Q '
Rupee: n Q
X 4

) Japan
D) China

S ———

en:?

Physician : Treatment :: Judge : ?
' Punishment
Judgement
Lawyer
Court

§8)) [P.T.O.

] j
Scanned with CamScanner



Questions : (58-60) ‘

~ In each of the following questions two statements are given and these statemeIltsi
followed by two conclusions numbered (1) and (2). You have to take the 8iven,
~ Statements to be true even if they seem to be at variance from commOIﬂY_ knowy
Read the conclusions and then decide which of the given conclusions logically foll,
from the two given statements, disregarding commonly known facts.

Statements: Some actors are singers. All the singers are dancers.

Conclusions:

1. Some actors are dancers.

2. No singer is actor. |
Ay Only (1) conclusion follows

B) Only (2) conclusion follows &&9
)}f Either (1) or (2) follows

N2
D) Neither (1) nor (2) follows v
N

59. Statements: All the harmoniums ageNinStruments. All the instruments are flut

Conclusions:

1. All the flutes are i@ents.
T

2. All the harmo

e flutes,
A9 Only (1) cgnefusion follows
B) Only (2 sion follows
C) Ei or (2) follows

D) 0@1& (1) nor (2) follows

60. tements: Some mangoes are yellow, Some tixo

are mangoeg,
Conclusions:

. Some mangoes are green.

2. Tixoisayellow.
A)  Only (1) conclusion follows
B)  Only (2) conclusion follows
C)  Either (1) or (2) follows

D) Neither (1) nor (2) follows
Set-A) (12)
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Questions ; (61-63)

In each question belg usions numbcred
consider the tw0

d a reasonable

Land I1. You have (o flsw is given a statement followed by two con°!
488ume everything in the statement to be trucs then

conclusions together and deci
> 0d decide which of them Jogically follows beyon
doubt from the informagigy, given in the slalcmcnt.g '

61. Statements: Govc?rnlncnt has spoiled many top ranking financial institutions by appointing

bureaucrats as Directors of (hese institutions,

Conclusions:

1. Government should appoint Directors of the financial institutes takin
consideration the expertise of the person in the area of finance-

2. The Director of the financial institute should have expertise commensurat
the financial work carried out by the institute.

A)  Only (1) conclusion follows 6

B) Only (2) conclusion follows &&

C) Either (1) or (2) follows

D) Both (1) and (2) follows / | \Q

g into

e with

62. Statements: Population increase coupled with ?&g resources is going to be-the
| m

scenario of many developing countries in a;@ e.

Conclusions: ' _

1. The population of developingc will not continue to increase in future.
V!

2. Ttwill be very difficult fo@ ments of developing countries to provide its
people decent quality of life” ,

A) Only (1) conclusiog foltows

B) i S

C) .

D)

well wercgular viewers of television, even in households without a TV, As a resu]t

63. Statement§; e age school-going children in urban India have now become avid as
there hageen an alarming decline in the extent of readership of newspapers.

Conclusions:
1. Method ofincreasing the readership of newspapers should be devised.

2. Ateam of experts should be sent to other countries to study the impact of TV, op
the readership of newspapers.
Only (1) conclusion follows
Only (2) conclusion follows
Either (1) or (2) follows
Neither (1) nor (2) follows
13) ~ [PTO.
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'Meat' is related to 'Vegetarian' in the same way as 'Alcohol' is relatedto____ 9
A) Teetotaler

BY  Smoker

C) Water

D) Dietician

' 'Chef" is related to 'Food' in the same way as 'Choreographer’ isrelatedto ____ ?

A) Stage
B) Music
£ZJ Dance

D) Photography

Select the option that is related to the third numbe&e same way as the secon

number is related to the first number. 4 : 8 ::25

A) 100 v
B) 125 Er
C) 625 & %

pf 75

67. If+means‘+’-means ‘“+’, x é ->and +~means ‘ x’, then what will be the value 0
the followmg expressmr& 27+3 x 12 =¥
A) 92 '

‘
:
:’ i

D) 107@

Intr@ girl, a boy said, “She is the daugh /

! y , ghter of the mother of the daucht

ow is the girl related to the boy? Hghter of my
iece

. ) Aunt

C) Cousin
D)  Daughter

ne morning, Manish and Ali were talking to each other fa

/ ce to face at
P/ l_ I's shadow was exactly to the left of Manish, which directi @ crossing, I

on was Manish facmg‘?

(14) @ —_
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) RSN

k__’_

A [
hpe the
l po the [oHowing

\ ' v '"HIN )
3 l\:::ll‘llinp; 1 I ogfens mnd menningful order,
3 Seller ™
Seller W s
Y cdlee y
S Peedback S O |4 ® "
0. Reader?® UBC‘ \":‘ 7 07 (9/
A 41,2,3,6,5 \ty ‘\V‘OO N7
B)  4,1,2,6,3,5 o W A
(‘) 4‘ ln3| (‘\ 512 \()V\ ) ' :
D) 4.1,2 R LA
) 41,2,6,5,3 GO | s
VOB 0 >
W 2

71./ Arrange the following in a logical and meaningful order.

1. World Cup Semi Final Matches %

2. World Cup Finals Match A &9
3. Organizing the World Cup®\ - _ g &

4. TFinalizing the participating teams ) ; \0

5. Winner of the World Cup ? &, v

A 5,2,3,1,4 | X,

B) 4,1,2,3,3 N
ﬂ) 4,3!1’235l
D) 4,1.3.2,3 60

- d right and ran 10 km. He took

; and ran 20 km toward l}en turned .

@ Ked_ar léft h?;:::tr:; at the same spo again turned right and ran 20 km After this

rest 10" tzlié‘]ft and ran 20 km to the criekeét ground. How many kilometers will he have to
he turne

run back to reach his home b test route?

INBLE: km
B) 20km Q
c) 25 km 6
P/30km

The ang] e% quadrilateral are in Ratio 4: 5: 10 : 11. The angles are given below:
A) 36°, 60°, 108°, 156°

48°, 60°, 120°, 132°

o) 52°,60°, 122° 126°

) 60°, 60°, 120° 120°

73.
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76.

77.

78.

79.

The expression 86.04/400¢

A) 0. 10215 1S equal to
B) 0.0215]
C) 0.15201
D) 0.21015

A man sells two houses at the rate of Rs. 1.995 lakhs each. On one, he gains 5% and on

other he loses 5%. His gain/loss percentage in the whole transaction is
A) Loss=0.25%

B) Gain=025%
C) Loss=25%
D) Loss=25%

A has to pay Rs. 220 to B after 1 year. B asks A to pay Rs. 1 &ash and defer the

payment of Rs. 110 for 2 years. A agrees to it. If the rate c\@ be 10% per annum,
in this mode of payment.

A) There is no gain or loss to any one &v

B) AgainsRs.7.34

C) A loses Rs. 7.34 0
D) AgainsRs.11 60

Bombay Express left Delhi for Bo 14.30 hrs., travelling at a speed of 60km/h

d Rajdhani Express left Delhij bay on the same day at 16.30 hrs., travelling at
i;nspccd of 80kmph. How faraw. m Delhi will the two trains meet?

®
A) 120km

p) 360km @
) 480km
Dy 500km Q

4B ece of work in 72 days; B and C can do it .
;;z;:) wat time can A alone do it? i 120 days, Aand C cando it
150Ways

A)

120 days
2; 100 days
D) 80 days
I 5)62"1313"*'6y2 =0, then -
80 A S53or]o TS
B) 3:5 or 2.]
) 2
D) s 31 Only
. omy
Set-A)

(16
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81.

82.

83.

84,

If pqr =1,then l e I + I =7
Ip+g! 14g+r  1+r+p!

A) 0
g
5) pq
O pg ISI
D) 1 TR

A certain sum of money at simple interest amounts to Rs. 1012 in 5/2 years and to

Rs. 1067.20 in 4 years. The rate of interest per annum is
A)  2.5%

B % 6
D) 5% _ VSQ

The linear equation 6x-12y=0 has &
A) Unique solution

B) Two solutions

C) Infinite solutions 60

D) No solution

ZBCD = /BAC
What is ratio of perimet e triangle ADC to that of triangle BDC

Consider triangle shown 11{9 where BC=12c¢m, DB=9%¢m, CD=6cm and

A) 79
B) 8:9
C) 69 [P.T.0.
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8S. A person standing on the bank 0
tpwer on the opposite bank is 45

A)

friver finds that the angle of elevation of the top of,
°, then which of the following statement is COrrecr)
Breadth of a river is twice the height of the tower

B)  Breadth ofariver and the height of tower are the same

C)  Breadth of ariver is half of the height of the tower

D) Height of atower is half of the breadth of river

86. If two circles (x—1)* +(y—3)* =7* and (x)* + ()’ +8x+2y + 8 = 0 Intersect;,

two distinct points, then
A) 2<r<8 &&9
&
-~ B) r<2 V\
C) r=8 X
D) r>2 ‘ 00
O
J?S*00085*189 %
87. quatio

0.0017 1.9 2.1e,

A) 0.15 Q®\

B@é

88. Find the length of the commg
16cm and 9cm respectively,

N tan i
gent of two €Xternally touching circles with radi
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89 Directi
S Dhrections: The
O L::: g\l lihc Ple chypy given |
reent. Study the ey .o S here reprege
ythe e represents the domestie exX

o the family iy Rs. 33 6‘;‘:)(1 answer the folloyw penditure of g family ip

g questions if the total monthly income

Expenditure of Famyyy

90 Study the pattern:
Ix8+1=9 : \
123 x 8 + 3 =987 0
1234 x § + 4 =9876 a>
12345 x 8 + 5 =98765 0

Write the answer for next two st% v

A) 987653, 9876543
B) 987651, 9876542 \&

C) 987650, 987654@
D) 987654, 987@

ction of a Central Processing Unit (CPU)?

91. Whatisth
A) Sto ata .
B) Execution of instructions
C) splay of graphics

for storing data in a long-term, non-volatile

p10:
A,

Scanned with CamScanner

19)




@ What is the main function of an input device?
Display information
B)

~ Process data
C)  Enterdata into the computer
BY” Store data permanently

94. What is the purpose of an operating system?
A)  To perform arithmetic calculations
B)  Tomanage hardware resources and run applications
C)  Todisplay graphics '
D)  Tostore and retrieve data

@Nhich type of software is designed to protect a computer from viruses and malware?
A)  Word processor

B Antivirus software &

C)  Web browser 0
D) Spreadsheet software ‘\

96. What is the primary function of a modem? &
A)  To display images on the screen
B) To provide power to the computer 0
C) To connect the computer to the i
D) Tostore data

What is the purpose of rap a';ess memory (RAM) in a computer?

__,k)/f,ong-term storag
B) Temporary stor&data and program instructions

C) Displayof
D) Data.inpg ghakeyboard

Whic llowing is not an example of an output device?
A) Printer ) ) .

B)  Speaker

C) Monitor -
D) Keyboard -

which of the following i« :

A)  Python NE1s nota high-level programming language?

7 Assembly

C) Java '
C-++ ’

(20)
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100, Which data Structy,

rey
A) Queue 38 the Last-In-F irst-Qut (LIFO) principle?
B) Stack
C) Array

| . interface
10}} Programming Paradigm is associated with objects that enc
behavior?

a%ulate data and
A) Procedura] &&

B)  Functiona]

C) Ob ect-Oriented v\
D)

Imperative ‘ &
103. What is the binary equivalent of the hexadecim@r "1A"?
A) 1010
B) 10001

O
5 it (N
P,

in pr Ogramming?
A) Toexecute the pro . .
B) To convertso into machine code

D) Toma ory allocation
B sH& stand for in web developmengy
z What do erlink Text Markup Language
Hyper Text Management Language
p) HyP ¢ Transfer Markup Language
C) gzgzﬁext Markup Language

. eollowing is not an inpy¢ devicey
»1 1 J1ANS

@1y
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107. What type of software is responsible for managing hardware componentsang Proy;
auser interface?

i,
!

A)  System software

B) Application software

C) Open-source software
D) Freeware

108. What is the primary characteristic of open-source software?

A) Ttisalways free of charge.

B) The source code is freely available and can be modified
C) Itisalwaysdeveloped by large corporations.
D) TItisneverused in commercial applications.

109. Which organization oversees the development-of the open-som&br owser Firefyy)

A)  Google Q
B) Mozilla Foundation A \
C) Microsoft ;

D) Apple &
110. What is a primary key in MS Access? eQ:

A) A unique identifier for a record
B) Awayto format text

C) Atype of report 6&
D) A form control
R\
111. What does SQL stand fi

A) Structured Que
B) System Qu¢

C) Structure Logic
D) Sys Language
" 112 Whatis e 1
. m used for 3 gj ide i
. Ingle slide ip 5 PowerPojnt Presentation?
on?

‘B)  Frame
C) Slide

\e context of MS Access?

Yortable Document Format
ersonal Document File

s~ -
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114.

115.

116.

117.

118.

119.

What does URL stang foro

A)  Universal Rr::sourc:e-L0 t
B)  Uniform Resource Loc(;?o(;r
C)  Universal Resource Link

D) Uniform Resource Link

What does CC stand for j ,

A)  Carbon Copy In an email context?
B) Copy Content

C) Confidential Copy

D) Computer Copy

What is a computer virus?

A) A type of computer hardware ' &
B) A software program designed to damage or infect compute‘
C) A type of computer network

D) A computer accessory R V\

How do computer viruses typically spread?
A)  Through physical contact with infected co
B) Viaemail attachments, downloads, and files

C) Through wireless networks only

D) By overheating the computers h |
Which of the following is NOT g consion objective of computer viruses?
A) Stealing personal data {

B) Slowing down syste

C) Spreadingawar
D) Deleting or co

Which of the ll®g is a well-known antivirus software developed by Symantec?
A) Norto irus
McAfee Antivirus

]CBZ; AvastAntivirus
ira Antivirus
Avirad
D)
. . feature in antivirus software is desjpne o ‘
s cune {hreats? shed (o protect against malicious websiteg
wirewall

By J&K Service Selection Board Aspirants .
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